Basic Economic Concepts – Unit 1 – Homework

1.1 – Scarcity, Opportunity Cost and Production Possibilities Curves (PPCs)
Scarcity necessitates choice.  Consuming or producing more of one commodity or service means consuming or producing less of something else.  The opportunity cost of using scarce resources for one commodity or service instead of something else is often represented in graphical form as a production possibilities curve.  
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Use PPC 1 to answer question 1 below.

1. If the economy represented by Figure 1.1 is presently producing 12 units of Good B and zero units of Good A:

(A) The opportunity cost of increasing production of Good A from zero units to one unit is the loss of _______ unit(s) of Good B.

(B) The opportunity cost of increasing production of Good A from one unit to two units is the loss of _______ unit(s) of Good B.

(C) The opportunity cost of increasing production of Good A from two units to three units is the loss of _______ unit(s) of Good B.

(D) This is an example of (constant / increasing / decreasing / zero) opportunity cost per unit for Good A.
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Use PPC 2 to answer question 2 below.

2. If the economy represented in Figure 1.2 is presently producing 12 units of Good B and zero units of Good A:

(A) The opportunity cost of increasing production of Good A from zero units to one unit is the loss of _______ unit(s) of Good B.

(B) The opportunity cost of increasing production of Good A from one unit to two units is the loss of _______ unit(s) of Good B.

(C) The opportunity cost of increasing production of Good A from two units to three units is the loss of ________ unit(s) of Good B.

(D) This is an example of (constant / increasing / decreasing / zero) opportunity cost per unit for Good A.
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Use the PPC above to answer questions 3-7. 

3. Suppose there is a major technological breakthrough in the consumer-goods industry, and the new technology is widely adopted.Which curve in the diagram would represent the new production possibilities curve? (Indicate the curve you choose with two letters.) __________

4. Suppose a new government comes into power and imposes a significant tax on the use of automated machinery and modern production techniques in all industries.Which curve in the diagram would represent the new production possibilities curve? (Indicate the curve you choose with two letters.) __________

5. Suppose massive new sources of oil and coal are found within the economy, and there are major technological innovations in both industries.Which curve in the diagram would represent the new production possibilities curve? (Indicate the curve you choose with two letters.) __________

6. If BB' represents a country’s current production possibilities curve, what can you say about a point like X? (Write a brief statement.)

7. If BB' represents a country’s current production possibilities curve, what can you say about a point like Y? (Write a brief statement.)

1.2 Opportunity Cost and Comparative Advantage
People who don’t know much about economics often dismiss economics as being little more than cost/benefit analysis.While it is true that this is a very important concept, economics is not that simple. In fact, one of the most difficult concepts in economics is understanding the opportunity cost of choosing a particular action. We have seen that economic entities such as countries often face increasing opportunity costs as they try to increase production. For instance,when a country finds itself at war and needs to increase its production of armaments, at first it finds that increasing military production comes at a relatively low opportunity cost, as the first factories converted to military use are generally well-suited for such an event. As the war goes on, however, we see factories that are not at all well-suited to producing weapons being converted to military use, at a very high opportunity cost. Little is added to the output of armaments, and a great deal is sacrificed in terms of consumer goods. The notion of increasing opportunity costs is manifested in a production possibilities curve that is concave towards the origin. In the figure below, we can see that as we increase the production of military goods, each additional unit of output costs more in terms of civilian goods.When the government initially increases the output of military goods from $20 billion to $30 billion, the opportunity cost (in terms of civilian goods forgone) is small: only $10 billion of military goods ($660 billion minus $650 billion). However, when the country is already producing a lot of military goods and wants to produce even more, the cost is much higher. If the country is producing $70 billion and wants to produce $80 billion, the opportunity cost is now $200 billion, or $600 billion minus $400 billion. Opportunity cost also explains the incredible amount of trade that goes on among individuals, firms and countries. Today, of course, few of us produce our own goods and services; we rely on others to do this while we use our time earning money at a job. Instead of making our goods, we buy them. Computer manufacturers actually produce few of their own parts, but instead buy parts from suppliers. Countries tend to specialize in the production of goods and services as well; for instance, there aren’t any firms in the United States currently making television sets, and we make very few consumer electronics of any sort. Instead, our businesses concentrate on making other goods and services, and we import the televisions we need. As we will see, we benefit from trade with other countries even if we are better at producing everything than the other country. Trade will benefit both countries as long as we each specialize in doing the task for which we have a lower opportunity cost. This is called comparative advantage.
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Examples

Let’s begin with a simple example. One summer two friends, Ty and Jessica, each started a business, making money by providing lawn-care services. Although they earned decent money working alone, they wondered if they could make more money by working together. The table below shows how many minutes it takes for each to complete the two tasks involved in doing one lawn: mowing and trimming, which includes the sweeping, edging and cleanup.

Mow 

Trim
Ty
60 minutes 
40 minutes
Jessica 
75 minutes 
90 minutes

Someone who can do an activity using fewer resources is said to have an absolute advantage. Ty has an absolute advantage at both activities. Does this mean he should continue working alone? If your instinct is to say that Ty should not partner with Jessica, you are wrong, but you are in good company: Adam Smith, whom many regard as the founder of modern economics, thought the same thing. It wasn’t until David Ricardo came along in the early 1800s that people realized specialization and trade can benefit everyone even if one of the parties has an absolute advantage at both activities! If Ty and Jessica are going to specialize, who should do what? Now, absolute advantage does not tell us anything, since Ty is better at both things. Instead, we have to look at comparative advantage. We say someone has a comparative advantage at a task if this person can do the task at a lower opportunity cost than the other person. Here, the opportunity cost of Ty mowing a lawn is how much of a lawn he could have trimmed in the same time. In this case, Ty could have used the 60 minutes it takes him to mow one lawn and he could have trimmed 1 1/2 lawns. For Jessica, the opportunity cost of mowing one lawn is what she could have trimmed during the 75 minutes she needed to mow that lawn. Jessica could have trimmed only 5/6 (or 75/90) of a lawn. Thus, we can see that Jessica has a comparative advantage in mowing lawns because Jessica’s opportunity cost of mowing a lawn is lower than Ty’s: Five-sixths of a lawn trimmed is less than 3/2 lawns trimmed. Now, we can calculate their opportunity cost to trim lawns. It takes Ty 40 minutes to trim one lawn, and with these 40 minutes he could instead have mowed 2/3 of a lawn (or 40/60). For Jessica, instead of using 90 minutes to trim one lawn, she could have spent these 90 minutes mowing one lawn and 1/5 of another lawn (90/75). Thus, Ty has a comparative advantage in trimming lawns. The table below shows the relative opportunity costs.

Opportunity cost of  mowing one lawn

Opportunity cost of trimming one lawn
Ty 
3/2 lawn trimmed 


2/3 lawn mowed
Jessica
 5/6 lawn trimmed 


6/5 lawn mowed

Notice two things about our calculation of opportunity cost: First, Ty’s opportunity cost of mowing one lawn (3/2 lawns trimmed) is the reciprocal of his opportunity cost of trimming one lawn (2/3). This will always be true, so in this example we did twice as much math as we would normally have to. Second, notice that each person has a comparative advantage in precisely one activity. Unless a person is equally able at both activities, this will always be true as well. Next, let’s see whether this specialization actually increases their productivity. Before specializing, it would take Jessica 165 minutes (90 + 75) to mow and trim one lawn and Ty 100 minutes (60 + 40) to mow and trim one lawn, for a total of 265 minutes. If Jessica mows two lawns and Ty trims two lawns, then the total time needed to do two lawns would be 150 (75 x 2) + 80 (40 x 2) minutes or 230 minutes. Thus, they save 35 minutes, or 13 percent of the total time necessary to do the lawns without specializing. Together, they can do more lawns in a week, and they can split the additional income so both are richer.
Let’s look at one more example.Here,we will express the relative productivity of each person not in the number of minutes they need to do the activity but instead in how many activities they can do in an hour. A few years ago Mark and Doreen were earning extra money installing car stereos for a local electronics store when they decided to go into business for themselves. After they rented a garage, they had to decide who should do what activity. The table below describes their productivity in the number of stereos and speakers installed per hour.

Mark 


Doreen

Radios installed 
6 


10
Speakers installed 
2 


5

The table below contains the breakdown of the opportunity cost for each person to do each activity.

 


Mark 


Doreen
Installing 1 radio 
1/3 speaker 

1/2 speaker
Installing 1 speaker 
3 radios 

2 radios

Mark has the comparative advantage in installing radios, and Doreen has the comparative advantage in installing speakers. By specializing, their total output increases.

Questions

1. What is the difference between comparative advantage and absolute advantage?

2. You’re given the following information about a newlywed couple and the time it takes each of them to do two different chores: vacuuming a room or washing a load of dishes.

                                            Mike 

 Debbie
Vacuum a room 
 60 minutes
 45 minutes
Wash a load of dishes
 30 minutes
 45 minutes

(A) What is Mike’s opportunity cost of vacuuming in terms of washing dishes?

(B) What is Mike’s opportunity cost of washing dishes in terms of vacuuming?

(C) What is Debbie’s opportunity cost of vacuuming in terms of washing dishes?

(D)What is Debbie’s opportunity cost of washing dishes in terms of vacuuming?

(E) Who has the absolute advantage in vacuuming? 
(F) Who has the absolute advantage in washing dishes? 
(G)Who has the comparative advantage in vacuuming?
(H)Who has the comparative advantage in washing dishes? 
(I) Who should do which chore and why? Base your answer only on the information above and on comparative advantage considerations.

3. Now, you’re given the following information about Andy and Hannah and the time it takes each of them to clean an office and clean a jail cell:

                                           Andy 

Hannah
Cleaning offices 
60 minutes 
20 minutes
Cleaning jail cells             30 minutes 
15 minutes

(A) What is Andy’s opportunity cost of cleaning offices in terms of cleaning jail cells?

(B) What is Hannah’s opportunity cost of cleaning offices in terms of cleaning jail cells?

(C) What is Andy’s opportunity cost of cleaning jail cells in terms of cleaning offices?

(D)What is Hannah’s opportunity cost of cleaning jail cells in terms of cleaning offices?

(E) Who has the absolute advantage in cleaning offices? 

(F) Who has the absolute advantage in cleaning jail cells? 

(G)Who has the comparative advantage in cleaning offices? 

(H)Who has the comparative advantage in cleaning jail cells?

(I) Who should do which chore and why? Base your answer only on the information above andon comparative advantage considerations.

4. Consider the following two countries. Assume they produce only these two goods. Note that productivity is now measured in how many goods can be produced per hour, the opposite of how we measured it in Questions 2 and 3.

 

United States 
Japan
Cars 

12 

10
Computers 
4

6

(A) What is the United States’ opportunity cost of making cars?

(B) What is Japan’s opportunity cost of making cars?

(C) What is the United States’ opportunity cost of making computers?

(D)What is Japan’s opportunity cost of making computers?

(E) Which country has the absolute advantage in cars?

(F) Which country has the absolute advantage in computers? 

(G)Which country has the comparative advantage in cars? 

(H)Which country has the comparative advantage in computers? 

(I) Which country should produce which good and why? Base your answer only on the information above and on comparative advantage considerations.

5. Use the law of comparative advantage to explain why self-sufficiency leads to a lower standard of living.

1.3  Demand Curves, Movements Along Demand Curves and Shifts in Demand Curves
The chart below shows the market demand for a hypothetical product: Greebes. Study the data, and plot the demand for Greebes on the axes in the graph below. Label the demand curve D, and answer the questions that follow.Write the correct answer in the answer blanks or underline the correct words in parentheses.
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1. The data for demand curve D indicate that at a price of $0.30 per Greebe, buyers would be willing to buy _________ million Greebes. Other things constant, if the price of Greebes increased to $0.40 per Greebe, buyers would be willing to buy _________ million Greebes. Such a change would be a decrease in (demand / quantity demanded). Other things constant, if the price of Greebes decreased to $0.20, buyers would be willing to buy _________ million Greebes. Such a change would be called an increase in (demand / quantity demanded).

2.  Now, let’s suppose there is a dramatic change in federal income-tax rates that affects the disposable income of Greebe buyers. This change in the ceteris paribus (all else being equal) conditions underlying the original demand for Greebes will result in a new set of data, shown in the figure below.  Study these new data, and add the new demand curve for Greebes to the axes in grpah above. Label the new demand curve D1 and answer the questions that follow.
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3. Comparing the new demand curve (D1) with the original demand curve (D), we can say that the change in the demand for Greebes results in a shift of the demand curve to the (left / right). Such a shift indicates that at each of the possible prices shown, buyers are now willing to buy a (smaller / larger) quantity; and at each of the possible quantities shown, buyers are willing to offer a (higher / lower) maximum price. The cause of this demand curve shift was a(n) (increase / decrease) in tax rates that (increased / decreased) the disposable income of Greebe buyers.

4. Now, let’s suppose that there is a dramatic change in people’s tastes and preferences for Greebes. This change in the ceteris paribus conditions underlying the original demand for Greebes will result in a new set of data, shown below. Study these new data, and add the new demand curve for Greebes to the axes in the graph. Label the new demand curve D2 and answer the questions that follow.
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Comparing the new demand curve (D2) with the original demand curve (D), we can say that the change in the demand for Greebes results in a shift of the demand curve to the (left / right). Such a shift indicates that at each of the possible prices shown, buyers are now willing to buy a (smaller / larger) quantity; and at each of the possible quantities shown, buyers are willing to offer a (lower / higher) maximum price. The cause of this shift in the demand curve was a(n) (increase / decrease) in people’s tastes and preferences for Greebes.

5. Other things constant, which of the following would not cause a change in the demand (shift in the demand curve) for mopeds?
(A) A decrease in consumer incomes
(B) A decrease in the price of mopeds
(C) An increase in the price of bicycles, a substitute for mopeds
(D) An increase in people’s tastes and preferences for mopeds

6. “Rising oil prices have caused a sharp decrease in the demand for oil.” Speaking precisely, and using terms as they are defined by economists, choose the statement that best describes this quotation.
(A) The quotation is correct: An increase in price always causes a decrease in demand.
(B) The quotation is incorrect: An increase in price always causes an increase in demand, not a decrease in demand.
(C) The quotation is incorrect: An increase in price causes a decrease in the quantity demanded, not a decrease in demand.
(D) The quotation is incorrect: An increase in price causes an increase in the quantity demanded, not a decrease in demand.

7. “As the price of domestic automobiles has inched upward, customers have found foreign autos to be a better bargain. Consequently, domestic auto sales have been decreasing, and foreign auto sales have been increasing.” Using only the information in this quotation and assuming everything else constant, which of the following best describes this statement?
(A) A shift in the demand curves for both domestic and foreign automobiles
(B) A movement along the demand curves for both foreign and domestic automobiles
(C) A movement along the demand curve for domestic autos, and a shift in the demand curve for foreign autos
(D) A shift in the demand curve for domestic autos, and a movement along the demand curve for foreign autos

1.4 Reasons for Changes in Demand
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Read the eight newspaper headlines in the figure bleow, and use the table to record the impact, if any, of each event on the demand for beef. Use the first column to the right of the headline to show whether the event causes a change in demand. Use the next column to record whether the change is an increase or a decrease in demand. In the third column, decide whether the demand curve shifts left or right. Finally, write the letter for the new demand curve. Always start at curve B, and move only one curve at a time. One headline implies that the demand for beef does not change.
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1.5 Supply Curves, Movement Along Supply Curves and Shifts in Supply

Study the data in the chart below and plot the supply of Greebes on the axes of the graph below. Label the supply curve S and answer the questions that follow.Write the correct answer on the answer blank, or underline the correct answer in parentheses.
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1. The data for supply curve S indicate that at a price of $0.25 per Greebe, suppliers would be willing to offer ___________ million Greebes. Other things constant, if the price of Greebes increased to $0.30 per Greebe, suppliers would be willing to offer ______________ million Greebes. Such a change would be an increase in (supply / quantity supplied). Other things constant, if the price of Greebes decreased to $0.20 per Greebe, suppliers would be willing to offer _____________ million Greebes. Such a change would be called a decrease in (supply / quantity supplied).

2. Now, let’s suppose that there is a dramatic change in the price of several of the raw materials used in making Greebes. This change in the ceteris paribus conditions underlying the original supply of Greebes will result in a new set of data, such as that shown in the chart bleow. Study the data, and plot this supply of Greebes on the axes on the graph above. Label the new supply curve S1 and answer the questions that follow.
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3.  Comparing the new supply curve (S1) with the original supply curve (S), we can say that a change in the supply of Greebes results in a shift of the supply curve to the (left / right). Such a shift indicates that at each of the possible prices shown, suppliers are now willing to offer a (smaller / larger) quantity; and at each of the possible quantities shown, suppliers are willing to accept a (higher / lower) minimum price. The cause of this supply curve shift was a(n) (increase / decrease) in prices of several of the raw materials used in making Greebes.

4. Now, let’s suppose that there is a dramatic change in the price of Silopanna, a resource used in the production of Greebes. This change in the ceteris paribus conditions underlying the original supply of Greebes will result in a new set of data shown in chart below. Study the data, and plot this supply of Greebes on the axes on the graph. Label the new supply curve S2 and answer the questions that follow.
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Comparing the new supply curve (S2) with the original supply curve (S), we can say that the change in the supply of Greebes results in a shift of the supply curve to the (left / right). Such a shift indicates that at each of the possible prices shown, suppliers are now willing to offer a (smaller / larger) quantity; and at each of the possible quantities shown, suppliers are willing to accept a (lower / higher) minimum price. The cause of this supply curve shift is a(n) (increase / decrease) in the price of Silopanna, a resource used in the production of Greebes.

5. Other things constant, which of the following would not cause a change in the long-run supply of beef?
(A) A decrease in the price of beef 
(B) A decrease in the price of cattle feed
(C) An increase in the price of cattle feed
(D) An increase in the cost of transporting cattle to market

6. “Falling oil prices have caused a sharp decrease in the supply of oil.” Speaking precisely, and using terms as they are defined by economists, choose the statement that best describes this quotation.
(A) The quotation is correct: A decrease in price always causes a decrease in supply.
(B) The quotation is incorrect: A decrease in price always causes an increase in supply, not a decrease in supply.
(C) The quotation is incorrect: A decrease in price causes an increase in the quantity supplied, not a decrease in supply.
(D) The quotation is incorrect: A decrease in price causes a decrease in the quantity supplied, not a decrease in supply.

7. A multiyear drought in Florida has dried the land so that rampant wildfires have destroyed many orange groves Florida oranges supply much of the nation’s orange juice.Which statement below is correct?
(A) The price of orange juice will rise because of a movement up the supply curve.
(B) The price of orange juice will rise because the supply curve will shift to the left.
(C) The price of orange juice will fall because of a movement down the supply curve.
(D) The price of orange juice will fall because the supply curve will shift to the right.

8. A popular movie star wears a certain style of sunglasses. If her fans want to copy her look,
(A) the price of the movie star’s brand of sunglasses will rise because of a movement up the supply curve.
(B) the price of the movie star’s brand of sunglasses will rise because the supply curve will shift to the left.
(C) the price of the movie star’s brand of sunglasses will fall because of a movement down the supply curve.
(D) the price of the movie star’s brand of sunglasses will fall because the supply curve will shift to
the right.

1.6 Reasons for Changes in Supply 
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Read the eight newspaper headlines in figure below, and record the impact, if any, of each event on the supply of cars. Use the first column to the right of the headline to show whether the event will cause a change in supply. Use the next column to record whether the change is an increase or a decrease in supply. In the third column, decide whether the supply curve shifts left or right. Finally, write the letter for the new supply curve. Always start at curve B, and move only one curve at a time. Two headlines imply that the supply of cars does not change.
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1.7 Equilibrium Price and Equilibrium Quantity
The chart bleow shows the demand for Greebes and the supply of Greebes. Plot these data on the axes on the graph below.  Label the demand curve D and label the supply curve S. Then answer the questions that follow. Fill in the answer blanks, or underline the correct answer in parentheses.
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1. Under these conditions, competitive market forces would tend to establish an equilibrium price of ________ per Greebe and an equilibrium quantity of ________ million Greebes.

2. If the price currently prevailing in the market is $0.30 per Greebe, buyers would want to buy ________ million Greebes and sellers would want to sell ________ million Greebes. Under these conditions, there would be a (shortage / surplus) of ________ million Greebes. Competitive market forces would tend to cause the price to (increase / decrease) to a price of ________ per Greebe. At this new price, buyers would now want to buy ________ million Greebes, and sellers now want to sell ________ million Greebes. Because of this change in (price / underlying conditions), the (demand / quantity demanded) changed by ________ million Greebes, and the (supply / quantity supplied) changed by ________ million Greebes.

3. If the price currently prevailing in the market is $0.20 per Greebe, buyers would want to buy ________ million Greebes, and sellers would want to sell ________ million Greebes. Under these conditions, there would be a (shortage / surplus) of ________ million Greebes. Competitive market forces would tend to cause the price to (increase / decrease) to a price of ________ per Greebe. At this new price, buyers would now want to buy ________ million Greebes, and sellers now want to sell ________ million Greebes. Because of this change in (price / underlying conditions), the (demand / quantity demanded) changed by ________ million Greebes, and the (supply / quantity supplied) changed by ________ million Greebes.

4. Now, suppose a mysterious blight causes the supply schedule for Greebes to change to the following:
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Plot the new supply schedule on the axes on the graph above and label it S1. Label the new equilibrium E1. Under these conditions, competitive market forces would tend to establish an equilibrium price of ________ per Greebe and an equilibrium quantity of ________ million Greebes. Compared with the equilibrium price in Question 1, we say that because of this change in (price / underlying conditions), the (supply / quantity supplied) changed; and both the equilibrium price and the equilibrium quantity changed. The equilibrium price (increased / decreased), and the equilibrium quantity (increased / decreased).

5. Now, with the supply schedule at S1, suppose further that a sharp drop in people’s incomes as the result of a prolonged recession causes the demand schedule to change to the following:
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Plot the new demand schedule on the axes on the graph and label it D1. Label the new equilibrium E2. Under these conditions, with the supply schedule at S1 , competitive market forces would tend to establish an equilibrium price of ____________ per Greebe and an equilibrium quantity of ________ million Greebes. Compared with the equilibrium price in Question 4, because of this change in (price / underlying conditions), the (demand / quantity demanded) changed. The equilibrium price (increased / decreased), and the equilibrium quantity (increased / decreased).

6. The movement from the first equilibrium price and quantity to the new equilibrium price and quantity is the result of a (price / nonprice) effect.

The following questions refer to a group of related markets in the United States during a given time period. Assume that the markets are perfectly competitive and that the supply and demand model is completely applicable. The figures show the supply and demand in each market before the assumed change occurs. Trace through the effects of the assumed change, other things constant.Work your way from left to right. Shift only one curve in each market. For each market, draw whatever new supply or demand curves are needed, labeling each new curve S1 or D1. Then circle the correct symbol under each diagram.  Remember to shift only one curve in each market.

7. Assume that a new fertilizer dramatically increases the amount of wheat that can be harvested with no additional labor or machinery. Also assume that this fertilizer does not affect potato farming and that people are satisfied to eat either bread made from wheat flour or potatoes.
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8. Assume that a heavy frost destroys half the worldÕs coffee crop and that people use more cream in coffee than they do in tea.
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9. Assume beef and pork are perfect substitutes. The price of pork rises dramatically. Catsup (ketchup?) is a complement to beef; mustard is a complement to pork.
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1.8 Multiple Choice Problems
1. The crucial problem of economics is
(A) establishing a fair tax system.
(B) providing social goods and services.
(C) developing a price mechanism that reflects the relative scarcities of products and resources.

(D) allocating scarce productive resources to satisfy wants.
(E) enacting a set of laws that protects resources from overuse.

2. When one decision is made, the next best alternative not selected is called
(A) economic resource.
(B) opportunity cost.
(C) scarcity.
(D) comparative disadvantage.
(E) production.

3. Which of the following is true if the production possibilities curve is a curved line concave to the origin?
(A) Resources are perfectly substitutable between the production of the two goods.
(B) It is possible to produce more of both products.
(C) Both products are equally capable of satisfying consumer wants.
(D) The prices of the two products are the same.
(E) As more of one good is produced,more and more of the other good must be given up.

4. Which of the following is true of the concept of increasing opportunity cost?
(A) It is unimportant in command economies because of central planning.
(B) It suggests that the use of resources to produce a set of goods and services means that as more of one is produced, some of the other must be sacrificed.
(C) It is irrelevant if the production possibilities curve is convex to the origin.
(D) It suggests that unlimited wants can be fulfilled.
(E) It means that resources are plentiful and opportunities to produce greater amounts of goods and services are unlimited.

5. To be considered scarce, an economic resource must be which of the following?
I. Limited
II. Free
III. Desirable
(A) I only
(B) I and II only
(C) II and III only
(D) I and III only
(E) I, II and III

6.  The basic economic problem is reflected in which of the following concepts?
I. Opportunity cost
II. Production possibilities
III. The fallacy of composition
IV. Ceteris paribus
(A) I only
(B) IV only
(C) I and II only
(D) II and III only
(E) II, III and IV only

7. Which of the following goods would be considered scarce?
I. Education
II. Gold
III. Time
(A) I only
(B) II only
(C) III only
(D) I and II only
(E) I, II and III

8. The value of the best alternative forgone when a decision is made defines
(A) economic good
(B) opportunity cost.
(C) scarcity.
(D) trade-off.
(E) comparative advantage.

9. Which of the following problems do all economic systems face?
I. How to allocate scarce resources among unlimited wants
II. How to distribute income equally among all the citizens
III. How to decentralize markets
IV. How to decide what to produce, how to produce and for whom to produce
(A) I only
(B) I and IV only
(C) II and III only
(D) I, II and III only
(E) I, II, III and IV

10. The opportunity cost of building a new high school is
(A) the expense of hiring more teachers for the new high school.
(B) the expense of new desks, chalkboards and books for the the new high school.
(C) other goods and services, which must now be sacrificed to build the new high school.
(D) overcrowded classrooms.
(E) the bond levy needed to build the new high school.

11. In which way does a straight line production possibilities curve differ from a concave production possibilities curve?
(A) A straight line production possibilities curve has a decreasing opportunity cost.
(B) A straight line production possibilities curve has a constant opportunity cost.
(C) A straight line production possibilities curve has an increasing opportunity cost.
(D)A straight line production possibilities curve does not show opportunity cost.
(E) There is no difference between the two production possibilities curves.

12. The law of increasing opportunity cost is reflected in the shape of the
(A) production possibilities curve concave to the origin.
(B) production possibilities curve convex to the origin.
(C) horizontal production possibilities curve.
(D) straight-line production possibilities curve.
(E) upward-sloping production possibilities curve.
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13. If the country is currently producing at Point C,it can produce more computers by doing which of the following?
(A) Moving to Point A
(B) Moving to Point B
(C) Moving to Point D
(D)Moving to Point E
(E) Remaining at Point C, since computer production is maximized

14. Which of the following statements about the production possibilities curve is true?
(A) Point A is not attainable in a developed society.
(B) Point D is not attainable given the society’s resources. 
(C) The relative position of Points C and D reflect production alternatives rather than relative prices.
(D) Elimination of unemployment will move the production possibilities curve to the right, closer to Point E. 
(E) Point E lies outside the production possibilities curve because it represents a combination of resources not desired by the citizens of the country.

15. How might Point E be attained?
(A) If the country’s resources were more fully employed
(B) If the country’s resources were shifted to encourage more efficient use of scarce resources
(C) If improvements in technology occurred in either the computer sector or the farmproducts sector
(D) If firms decreased their output of computers
(E) If the nation used more of its scarce resources to produce farm products

16. Which of the following points would most likely lead to a rightward shift of the production possibilities curve over time?
(A) Point A
(B) Point B
(C) Point C
(D) Point D
(E) Point E

17. The opportunity cost of producing an additional unit of product A is
(A) all of the human and capital resources used to produce product A.
(B) the retail price paid for product A.
(C) the wholesale price of product A.
(D) the amount of product B that cannot now be produced because of product A.
(E) the profit that was earned from producing product A.

18. Which of the following would cause a leftward shift of the production possibilities curve?
(A) An increase in unemployment
(B) An increase in inflation
(C) An increase in capital equipment
(D)A decrease in consumer demand
(E) A decrease in working-age population

19. Which of the following would cause an outward or rightward shift in the production possibilities curve? 
(A) An increase in unemployment
(B) An increase in inflation
(C) An increase in capital equipment
(D)A decrease in natural resources
(E) A decrease in the number of workers
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Two nations,Mars and Venus, each produce food and clothing. The table above gives points on each nation’s production possibilities curve. The asterisks indicate their current point of production.

20. In Mars, the opportunity cost of obtaining the first two units of food is how many units of clothing?
(A) 2 (B) 3 (C) 6 (D) 8 (E) 12

21. In Venus, the opportunity cost of the first unit of
(A) food is two units of clothing. 
(B) food is eight units of clothing.
(C) clothing is two units of food.
(D) clothing is four units of food.
(E) clothing is eight units of food.

22. Which of the following statements is correct based on the concept of comparative advantage?
(A) Mars and Venus should continue producing the quantities indicated by the asterisks.
(B) Mars should specialize in the production of food.
(C) Mars should specialize in the production of clothing.
(D)Venus has the comparative advantage in clothing.
(E) Mars has an absolute advantage in the production of food.

23. The table below shows the number of hours needed to produce one bushel of soybeans and one bushel of rice in each of two countries.
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Which of the following statements must be true?
I. The United States has an absolute advantage in producing soybeans. 
II. Japan has an absolute advantage in producing rice.
III. Japan has a comparative advantage in producing soybeans.
IV. The United States should specialize in the production of soybeans and Japan should specialize in the production of rice.
(A) I only
(B) III only
(C) I and IV only
(D) II and IV only
(E) I, II, III and IV

24. If there is an increase in demand for a good, what will most likely happen to the price and quantity of the good exchanged?
      
Price

 Quantity
(A) 
Increase
 Increase
(B)
Increase 
Decrease
(C) 
Decrease 
Decrease
(D)
Decrease
Increase
(E) 
No change
 No change

25. If the demand for a good or service decreases, the equilibrium price and quantity are most likely to change in which of the following ways?
               Price

Quantity
(A) 
Increase
Increase
(B)
Increase
Decrease
(C) 
Decrease 
Decrease
(D)
Decrease 
Increase
(E) 
No change 
No change

26. A decrease in the price of silicon chips and increased production of user-friendly software will affect the price and quantity of computers in which of the following ways?
              Price 






Quantity
(A)
Increase 





Increase
(B) 
Increase 





Decrease
(C) 
Decrease 





Decrease
(D) 
Decrease





May increase, decrease or remain the same
(E)
May increase, Increase decrease or remain the same
Increase

27. An improvement in the technology used in the production of automobiles and an increase in the need for automobile transportation will most likely cause the price and quantity of automobiles to change in which of the following ways?
              Price 






Quantity
(A) 
Increase 





Increase
(B)
Increase





Decrease
(C) 
May increase, Increase decrease, or stay the same
Increase
(D) 
Decrease 





May increase, decrease or remain the same
(E)
Decrease





Increase
28. An increase in the price of peanut butter will cause the demand curve for jelly to shift in which of the following directions?
(A) To the right, because peanut butter is a product that the government says is good for you
(B) To the right, if jelly is purchased by people with lower incomes and peanut butter is a luxury good for them
(C) To the right, if peanut butter and jelly are complementary goods
(D) To the left, if peanut butter and jelly are complementary goods 
(E) To the left, if peanut butter and jelly are substitute goods

29. According to the theory of comparative advantage, a good should be produced at the point where
(A) its explicit costs are least.
(B) its opportunity costs are least.
(C) the cost of real resources used is least.
(D) production can occur with the greatest increase in employment. 
(E) production can occur with the lowest increase in employment.

30. An increase in the price of gasoline will most likely cause the demand curve for tires to change in which direction?
(A) To the left, because gasoline and tires are substitutes
(B) To the left, because gasoline and tires are complements
(C) To the right, because gasoline and tires are substitutes
(D) To the right, because gasoline and tires are complements 
(E) To the right, because an increase in the price of gasoline makes consumers poorer and thus not willing to pay as much for tires

31. All of the following might reasonably be expected to shift the demand curve for beef to a new position except
(A) a decrease in the price of beef.
(B) a change in people’s tastes with respect to beef.
(C) an increase in the money incomes of beef consumers.
(D) a widespread advertising campaign by the producers of a product competitive with beef, such as pork. 
(E) expectations that beef prices will fall in the future.

32. Specialization and trade will not take place in which of the following cases?
I. The opportunity costs of making two goods are the same in both countries.
II. Wartime emergencies completely cut off trade routes. 
III. Tariff barriers increase the delivered cost of ordinary imported goods.
(A) I only
(B) II only
(C) III only
(D) I and II only
(E) I, II and III
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